SIDDEEQ PUBLIC SCHOOL
MODEL PAPER of ENGLISH for ADMISSION to GRADE:7

(Max Marks: 20)

[ Vocabulary ]
Q1. (A) Encircle the correct spellings. (0.5x2)
m aproppriate / appropriate / apprropriate / approprriate
m advertisement / advertisment /  advertiesment/  advatisement
(B) Provide the Meanings either in English or in Urdu. (0.5x4)
m chase: m support:
m sacred: m disaster:
(C) Complete the Columns. (0.5x6)
Words Opposites Noun Verb Adjective
rural enjoy
polite movement
Q2. Fill in the Blanks with suitable Articles and Prepositions. (0.5x4)
Monday, I was playing my friends when bell rang.
friend of mine went to see but nobody was there at the door.

Q3. (A) Complete each Sentence by Choosing the Correct Word. (1.0x3)
= the visitor left for Karachi? (Is, Has, Have)
= What they order for breakfast yesterday? (do, did, had)
= My friend his grandfather daily. (visit, visits, visited)

(B) Do as Directed. (1.0x3)
m They like swimming. (Change into Passive Voice)
m All the members casted their votes. (Correct the Sentence)
m She plays the piano quite well. (Change into Present Continuous)

(Sentence Construction ]

Q4. Make meaningful Sentences of the given Words. (1.0x3)
m original:
m barrier:
m indicate:

Q5. Translate into English. /(1.0><3)
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SIDDEEQ PUBLIC SCHOOL
MODEL PAPER of MATHEMATICS for ADMISSION to GRADE: 7

. (Max. Marks: 20)

Q1. Fillin the blanks. (complete the following mathematical statements)  (1.0x4)
(i) The parts of algebraic expressions separated by the signs of + ,- are

called
(ii) 25 of 96m is :
(iii) 3%x(4+7) = 3x4 + 3x7 is an example of property.
(iv) Algebraic form of “2 less than half of a number is 12" is

[ Computational Strategies: ]

Q2. Simplify 2a-[3a-{4a-(36-2a+36)}] (4.0)
Q3. Solve the following (2.0x2)
(iY1.5x+4=7 (i) If 1.2 : 3.6 :: x: 3, Find x.

[ Problem Solving Skills: ]

Q4. If 10 is deducted from a bill, Rs 58.50 remains to be paid. How much was
the bill? (4.0)

Q5. From a 43 m long tin sheet. Ahmed cut two lengths, one was Z%m long and other
was 1% m long. How much of the sheet was left? (4.0)



SIDDEEQ PUBLIC SCHOOL

MODEL PAPER of SCIENCE for ADMISSION to GRADE: 7
(Max. Marks: 10)

Objective
Q.1 Fill in the Blanks.

(1.0x 4)

(i)  In plant cells cell wall is present which is a hard and dead layer made up of

(if)

(iii)

brittle and cannot be stretched.

is a reproductive technique which is mostly done in fruit
trees, in which two plants are joined together.
can be bent and stretched whereas,

are

(iv)  When two bodies are rubbed with each other they become charged because

Short Answers

transfer from one body to another.

Q.2 Answer the following questions. (Best three will be considered) (2.0x3)
(i)  What is the role of stomach in human digestive system?
d
(ii) Differentiate between melting and condensation process.
MELTING CONDENSATION
1. 1.
2. 2.

(iii)  Why air is classified as a homogeneous mixture?

(iv) What are temporary magnets? Explain with the help of an example.




